M <sub>11</sub> ]	ltin	lying	hv	3	(I)
IVI U	աթ	rymg	Uy	J	(J)

Name:	Date:	Score:

## Calculate each product.

$$4 \times 3 = \boxed{\phantom{0}} 3 \times 3 = \boxed{\phantom{0}} 7 \times \boxed{\phantom{0}}$$

$$8 \times 3 = \boxed{ 4 \times 3 = \boxed{}}$$

$$9 \times 3 = \boxed{\qquad} 5 \times 3 = \boxed{\qquad}$$

$$6 \times 3 = \boxed{\qquad} 10 \times 3 = \boxed{\qquad}$$

$$2 \times 3 =$$
  $1 \times 3 =$ 

$$7 \times 3 = \boxed{\phantom{0}} 5 \times 3 = \boxed{\phantom{0}}$$

$$1 \times 3 = \boxed{ 4 \times 3 = }$$

$$3 \times 3 =$$
 $5 \times 3 =$ 
 $9 \times 3 =$ 

$$10 \times 3 = \boxed{ 1 \times 3 = }$$

$$6 \times 3 = \boxed{ 10 \times 3 = \boxed{}}$$

$$3 \times 3 = \boxed{ }$$
  $6 \times 3 = \boxed{ }$ 

$$9 \times 3 = \boxed{ } \qquad 2 \times 3 = \boxed{ }$$

$$\begin{array}{cccc}
1 \times 3 &= & & & 7 \times 3 &= & \\
8 \times 3 &= & & & 3 \times 3 &= & \\
\end{array}$$

$$10 \times 3 = \boxed{\phantom{0}} \qquad 3 \times 3 = \boxed{\phantom{0}}$$

$$5 \times 3 = \boxed{2 \times 3} = \boxed{2}$$

$$7 \times 3 =$$
  $5 \times 3 =$   $8 \times 3 =$   $1 \times 3 =$ 

$$9 \times 3 = \boxed{ 6 \times 3 = \boxed{ 2 \times 3 = \boxed{ 4 \times 3 = \boxed{ }}}$$

$$7 \times 3 =$$

$$3 \times 3 =$$

$$8 \times 3 =$$

$$1 \times 3 = \boxed{ }$$

$$4 \times 3 = \boxed{ }$$

$$9 \times 3 =$$

$$10 \times 3 =$$

$$6 \times 3 =$$

$$2 \times 3 = \boxed{\phantom{0}}$$
$$5 \times 3 = \boxed{\phantom{0}}$$

$$8 \times 3 =$$

$$7 \times 3 = \boxed{\phantom{0}}$$

$$1 \times 3 =$$

$$10 \times 3 = \boxed{\phantom{0}}$$
$$2 \times 3 = \boxed{\phantom{0}}$$

$$4 \times 3 =$$

$$5 \times 3 =$$

$$9 \times 3 = \boxed{\phantom{0}}$$
$$3 \times 3 = \boxed{\phantom{0}}$$

$$1 \times 3 = \boxed{\phantom{a}}$$

$$9 \times 3 =$$

$$8 \times 3 =$$

$$2 \times 3 =$$

$$6 \times 3 =$$

$$5 \times 3 = \boxed{\phantom{0}}$$

$$7 \times 3 =$$

$$3 \times 3 =$$

$$4 \times 3 =$$

$$10 \times 3 =$$

$$5 \times 3 =$$

$$10 \times 3 =$$

$$2 \times 3 =$$

$$6 \times 3 =$$

$$8 \times 3 =$$

$$3 \times 3 =$$

$$9 \times 3 =$$

$$4 \times 3 =$$

$$1 \times 3 =$$

$$7 \times 3 =$$

$$9 \times 3 =$$

$$2 \times 3 =$$

$$6 \times 3 =$$

$$3 \times 3 =$$

$$7 \times 3 =$$

$$1 \times 3 =$$

$$10 \times 3 =$$

$$5 \times 3 =$$

$$8 \times 3 =$$

$$4 \times 3 =$$